CONCEPT QUESTIONS - CHAPTER 14
14.1(
List the three ways financing decisions can create value.

1. Fool investors

2. Reduce costs or increase subsidies

3. Create a new security

14.2 (
How do you define an efficient market?



It is a market where current prices reflect all available information.


(
Name the three foundations of market efficiency?


Rationality, independent deviations from rationality and arbitrage

14.3 (
How would you describe the three forms of the efficient-market hypotheses?

1. Weak-form EMH postulates that prices reflect all information contained in the past history of prices.

2. Semistrong form EMH says that prices not only reflect the history of prices but all publicly available information.

3. Strong form EMH contends that prices reflect all available information, public and private (or "inside").


(
What could make markets inefficient?

1. Large costs of acquiring and skillfully utilizing information

2. The existence of private information

3. Large transactions costs


 (
Does market efficiency mean you can throw darts at a Financial Post listing of Toronto Stock Exchange stocks to pick a portfolio?

No.  All it says is that, on average, a portfolio manager will not be able to achieve excess returns on a risk-adjusted basis.


 (
What does it mean to say the price you pay for a stock is fair?

It means that the stock has been priced taking into account all publicly available information.

14.4 (
What conclusions about market efficiency can be drawn from available evidence?

Evidence supports the weak form and semi strong form, but not the strong form, efficient market hypothesis.

14.8 (
What are three implications of the efficient-market hypothesis for corporate finance?

1. The prices of stocks and bonds cannot be affected by the company's choice of accounting method.

2. Financial managers cannot time issues of stocks and bonds.

3. A firm can sell as many stocks and bonds as it wants without depressing prices.

CONCEPT QUESTIONS - CHAPTER 15
15.1(
What is a company's book value?


It is the sum of the common shares, capital surplus and accumulated retained earnings.


 (
What rights do stockholders have?

1. Voting rights for board members

2. Proxy rights

3. Asset Participation in case of liquidation

4. Voting rights for mergers and acquisitions

5. Preemptive rights to new shares issued.


(
What is a proxy?
It is the grant of authority by a shareholder to someone else to vote his or her shares.

· Why do firms issue nonvoting shares? How are they valued?

Management of a firm can raise equity capital by issuing non-voting or limited-voting stock while maintaining control. Market prices of U.S. stocks with superior voting rights were found to be about 5 percent higher than the prices of otherwise identical stocks.

15.2(
What is corporate debt?  Describe its general features.

Corporate debt is a security issued by corporations as a result of borrowing money and represents something that must be repaid.  Its main features are:

1. It does not represent ownership interest in the firm.

2. Payment of interest on debt is tax deductible because it is considered a cost of doing business.

3. Unpaid debt is a liability of the firm.


 (
Why is it sometimes difficult to tell whether a particular security is debt or equity?

Because it has characteristics that are particular to both.  Companies are very adept at creating hybrid securities that are considered debt by CCRA but have equity features such as being repaid in common shares.
15.3(
What are preferred shares?

Preferred stock is a security that has preference over common stock in the payment of dividends and in the distribution of assets in the case of liquidation.


 (
Why are preferred shares arguably more like debt than equity?

Preferred stock is similar to both debt and common equity.  Preferred shareholders receive a stated dividend only, and if the corporation is liquidated, preferred stockholders get a stated value.  However, unpaid preferred dividends are not debts of a company and preferred dividends not a tax deductible business expense.

· Why is it attractive for firms that are not paying taxes to issue preferred shares?

Such low-tax companies can make little use of the tax deduction on interest. However, they can issue preferred shares and enjoy lower financial costs since preferred dividends are significantly lower than interest payments.


(
What are three reasons, unrelated to taxes, why preferred shares are issued?
1. Because of the way utility rates are determined in regulatory environments, regulated public utilities can pass the tax disadvantage of issuing preferred stock on to their customers.

2. Since preferred shareholders often cannot vote, preferreds may be a means of raising equity without surrendering control.

3. Firms issuing preferred stock can avoid the threat of bankruptcy that exists with debt financing.

15.5 (
What is the financial gap?

The financial gap is the difference between total spending and internal financing.


 (
What are the major sources of corporate financing? What trends have emerged in recent years?

1. Internal financing

2. External financing (new long-term borrowing, and equity)

Debt/equity ratios of Canadian industrial corporations have remained relatively stable in contrast with increased reliance on debt financing in the U.S. in the 1980s.  However, in recent years, with the cheap interest rates on debt financing, the debt levels of companies has increased.
In addition to fixed assets, these financing sources will likely be used for investment in affiliates or acquisitions. The increasing pace of globalization of markets and international competition will force companies to become larger and more international.
CONCEPT QUESTIONS  - CHAPTER 16
16.1 (
What is the pie model of capital structure?

It is a model in which the value of the firm is pictured as a pie cut into debt and equity slices.

16.2 (
Why should financial managers choose the capital structure that maximizes the value of the firm.



Because this capital structure also maximizes the value of equity.

16.3 (
Describe financial leverage.



It is the extent to which a company relies on debt in its capital structure.


 (
What is levered equity?



The equity of a firm that has debt in its capital structure.


 (
How can a shareholder of Trans Can undo the company's financial leverage?

By selling shares of Trans Can and buying bonds or investing the proceeds in another company's debt.

16.4 (
Why does the expected return on equity rise with firm leverage?



Because debtholders must be paid first, the cash flows to the shareholders become more variable, increasing the risk for the shareholders.


(
What is the exact relationship between the expected return on equity and firm leverage?



Rs = ro + (ro – rB) (B/S)


 (
How are market-value balance sheets set up?

They are set up the same way as historical accounting balance sheets with assets on the left side and liabilities on the right side.  However, instead of valuing assets in terms of historical values, market values are used.

16.5 (
What makes a levered firm more valuable than an otherwise-identical unlevered firm?



Interest payments are tax deductible and dividend payments are not.  Therefore, there is a tax benefit with interest which can be retained by the shareholders.

 (
What is MM Proposition I under corporate taxes?



VL  = VU  + TCB


(
What MM Proposition II under corporate taxes?



rs =  ro + (B/S)(1-Tc)(ro – rB) 

CONCEPT QUESTIONS - CHAPTER 17
17.1 (
What does risk-neutrality mean?



Investors are indifferent to the presence of risk.


 (
Can one have bankruptcy risk without bankruptcy costs?

Yes.  When a firm takes on debt, the risk of bankruptcy is always present but bankruptcy cost may not be.


 (
Why do we say that stockholders bear bankruptcy costs?
Because in the presence of bankruptcy costs, bondholders would pay less for any debt issued.  This then will reduce the value of potential future dividends.

17.2(
What is the main direct cost of financial distress?



Legal and administrative costs of liquidation or reorganization.


 (
What are the indirect costs of financial distress?



Those that arise because of an impaired ability to conduct business – such as loss of reputation, loss of customers, low employee morale, etc.


 (
Who pays the costs of selfish strategies?



Ultimately, the stockholders.

17.3 (
How can covenants and debt consolidation reduce debt agency costs?

Covenants can increase the value of the firm which is favoured by shareholders as well as protecting bondholders. They offer the lowest-cost solution to the shareholder-bondholder conflict.

17.4 (
List all the claims to the firm's assets.

Payments to stockholders and bondholders, payments to the government, payments to lawyers, and payments to any and all other claimants to the cash flows of the firm.


 (
Describe marketed claims and nonmarketed claims.



Marketed claims are claims that can be sold or bought in capital markets. 



Nonmarketed claims are claims that cannot be sold in capital markets.


 (
How can a firm maximize the value of its marketed claims?



By minimizing the value of nonmarketed claims such as taxes.

17.5 (
Do managers have an incentive to fool investors by issuing additional debt?


Mangers may be able to fool investors to think that the firm is more valuable by increasing the level of debt.  According to this theory, investors would then push up the price of the shares.  However, since there are costs to this extra debt in the form of interest payments, the investors will quicly see through this and the share may actually fall below what it would have been if the debt was never issued in the first place.



(
Is there a cost to issuing additional debt?
Yes, there is a cost in that the share price may fall below where the price should have been if the debt had never been issued.


(
What empirical evidence suggests that managers signal information through debt levels?


The empirical evidence concerning exchange offers supports the theory that an increase in leverage is viewed as a positive signal for the firm, and the share price increases.
17.6 (
What are agency costs?

Costs that arise from conflicts of interest between managers, bondholders and stockholders.


 (
Why are shirking and perquisites considered an agency cost of equity?

Because managers will act in their own best interests rather than those of shareholders.


 (
How do agency costs of equity affect the firm's debt-equity ratio?

The optimal debt-equity ratio is higher in a world with agency costs than in a world without such costs.


 (
What is the Free Cash Flow Hypothesis?

We might expect to see more wasteful activity in a firm capable of generating large cash flows.

17.7(What is the pecking-order theory?



This theory states that when a firm seeks new capital it faces 'timing' issues of 

            new stock.  The company will choose its form of financing going through a specific order of courses starting with the cheapest ( internal) to the most expensive.  
· What are the problems of issuing equity according to this theory?

The theory implies that only overvalued firms have an incentive to issue equity and given market reactions to a stock issue, virtually no firm will issue equity.  The model results in firms being financed virtually entirely by debt.  Moderating the pure theory, we would predict that debt should be issued before equity.

· What is financial slack?
If a firm expects to fund a profitable project in the future it will start to accumulate a cash reservoir today, thus avoiding the need to go to the capital markets.

17.8 (
How do growth opportunities decrease the advantage of debt financing?

Growth implies significant equity financing, even in a world with low bankruptcy costs.  To eliminate the potential increasing tax liability resulting from growing EBIT, the firm would want to issue enough debt so that interest equals EBIT.  Any further increase in debt would, however, lower the value of the firm in a world with bankruptcy costs.

17.9 (
How do personal taxes change the conclusions of the Modigliani-Miller model about capital structure?

Let Ts and TB be personal tax rate on equity distributions and ordinary income, respectively. When Ts  < TB , the gain from leverage is reduced when Ts = TB , the MM with corporate tax result  is unchanged.

17.10(
List the empirical regularities we observe for corporate capital structure?

1. Most corporations have low debt ratios.

2. Changes in financial leverage affect firm value.

3. There are differences in the capital structure of different industries.


 (
What are the factors to consider in establishing a debt-equity ratio?

1. Taxes

2. Financial distress costs

3. Pecking order and financial slack.

CONCEPT QUESTIONS - CHAPTER 18
18.1(
How is the APV method applied?

APV is equal to the NPV of the project (i.e. the value of the project for an unlevered firm) plus the NPV of financing side effects.


 (
What additional information beyond NPV does one need to calculate A|PV?



NPV of financing side effects (NPVF).

18.2 (
How is the FTE Method applied?

FTE calls for the discounting of the cash flows of a project to the equity holder at the cost of equity capital.


 (
What information is needed to calculate FTE?



Levered cash flow and the cost of equity capital.

18.3(
How is the WACC method applied?

WACC calls for the discounting of unlevered cash flows of a project (UCF) at the weighted average cost of capital, WACC.

18.4(
What is the main difference between APV and WACC?



WACC is based upon a target debt rate and APV is based upon the level of debt.


 (
What is the main difference between the FTE approach and the two other approaches?



FTE uses levered cash flow and other methods use unlevered cash flow.


 (
When should the APV method be used?



When the level of debt is known in each future period.


(
When should the FTE and WACC approaches be used?



When the target debt ratio is known.

18.5( 
What adjustments are required in capital budgeting for projects with beta differences from the firm’s?
It requires adjustments on the discount rate to properly match the discount rate with the risk of the project.

18.6( 
How do flotation costs and subsidized financing affect APV?

Flotation costs reduce the APV, but subsidized financing enhances it substantially; the overall effect is enhancing. 

18.7( 
How is beta adjusted for leverage and corporate taxes?



Leverage and corporate taxes increase beta.

CONCEPT QUESTIONS  -  CHAPTER 19
19.2 (
Describe the procedure of a dividend payment.

1. Dividends are declared: The board of directors passes a resolution to pay dividends.

2. Date of record:  Preparation of the list of shareholders entitled to dividends.

3. Ex-Dividend date:  A date before the date of record when the brokerage firm entitles stockholders to receive the dividend if they buy before this date.

4. Date of payment:  Dividend checks are sent to stockholders.


 (
Why should the price of a stock change when it goes ex-dividend?

Because in essence the firm is reducing its value by the amount paid out in cash for the dividend.

19.3 (
How can an investor make homemade dividends?



By selling shares of the stock.


 (
Are dividends irrelevant?

If we consider a perfect capital market, dividend policy, and therefore the timing of dividend payout, should be irrelevant.


 (
What assumptions are needed to show that dividend policy is irrelevant?
1. Perfect markets exist.

2. Investors have homogeneous expectations

3. The investment policy  and borrowing policy of the firm is fixed.

19.4 (
In a perfect capital market, are repurchases preferred to dividends?


In a perfect capital market, the firm is indifferent between a dividend and a repurchase.  If the repurchase is financed with cash, the total value to the shareholder is the same under dividend payment strategy as under the repurchase strategy.  

(
What are five reasons for preferring repurchases to dividends in the real world?

1. Flexibility - The firm is not committed to repurchasing shares each year, as it is with dividends.

2. Executive compensation – Firms with significant stock option plans will repurchase shares to maintain their float of shares within a desirable range.
3. Offset dilution- Firms will repurchase shares to offset other sources of dilution, other than just stock options.

4. Repurchase investment – If managers believe that their share is undervalued in the market, they will repurchase shares.

5. Taxes – Repurchases attract a lower rate of tax than dividends for the shareholders.
19.5 (
List four alternatives to paying dividends with excess cash.

1. Invest in capital projects

2. Purchase other companies

3. Purchase financial assets

4. Repurchase shares of the company

(
Indicate a problem with each of these alternatives

1. Invest in capital projects -  if the firm has already taken all the positive NPV projects available, then it will end up investing in negative NPV projects that will reduce firm value.

2. Purchase other companies – Premiums are required to be paid on acquisitions, and there are significant up front costs for an acquisition.

3. Purchase financial assets – The result of this depends on the personal tax rates, and will only be beneficial to the firm when  personal tax rates are higher than corporate rates on dividends.

4. Repurchase shares of the company – We showed earlier that there are 5 potential reasons why a repurchase may be better than the payment of dividends for the firm.  
19.6 (
What are the tax benefits of low dividends?

Because the tax rate on dividends at the personal level is higher than the effective rate on capital gains, shareholders demand higher expected returns on high-dividend stocks than on low-dividend stocks.


 (
Explain the relationship between a stock’s dividend yield and its pretax return.

The expected pretax return on a security with a high dividend yield is greater than the expected pretax return on an otherwise identical security with a low dividend yield.

19.7 (
What are the real world factors favoring a high-dividend policy? 

1. Desire for current income
2. Resolution of uncertainty

3. Brokerage and other transaction costs

4. Fear of consumption out of principal

19.8 ( How does the market react to unexpected dividend changes? What does this 


tell us about the dividends? About dividend policy?



The market reacts to unexpected dividend changes. You find with some 



consistency that stock prises rise when the current dividend is unexpected 



increased, and they generally fall when the dividend is unexpected dcreased.


This illustrates the fact that dividends are important. But, many authors have 


pointed out that this observation does not really tell us much about dividend 


policy

( What is a dividend clientele?


Groups of investors attracted to different payouts are called clienteles.

· All things considered, would you expect a risky firm with significant, but highly uncertain growth prospects to have a low or high dividend payout?

Low dividend payout.

CONCEPT QUESTIONS  - CHAPTER 20
20.2 (
What are the basic procedures in selling a new issue?

1. Obtain approval of the Board of Directors.

2. File a preliminary prospectus with the OSC.

3. Distribute prospectus to potential investors.

4. Determine offer price  once the final prospectus is approved. 

5. Place tombstone advertisements.


 (
What is a preliminary prospects?

A document filed with the OSC containing information relevant to the offering.
· What is the POP system and MJDS and what advantages does it offer?

The Prompt Offering Prospectus (POP), introduced by the OSC in 1983, is a streamlined reporting and registration system for large companies that issue securities regularly. Because the OSC has an extensive file of information on these companies, only a short prospectus is required when securities are issued. In the early 1990s, securities regulators in Canada and the SEC in the U.S. introduced a Multi-Jurisdictional Disclosure System (MJDS). Under MJDS, large issuers in the two countries are allowed to issue securities in both countries under disclosure documents satisfactory to regulators in the home country.

20.3 (
Suppose that a stockbroker calls you up out of the blue and offers to sell “all the shares you want” of a new issue.  Do you think the issue will be more or less underpriced than average?



It will probably be less underpriced because otherwise it would have been oversold and there would be no need for the broker to try to sell it to you.

· What factors determine the degree of underpricing?
Smaller, more speculative issues must be significantly underpriced, on average, to attract investors. To counteract the winner’s curse and to attract the average investor, underwriters underprice issues.

20.5 (
What are the different costs associated with security offerings?

1. Spread:  The difference between the offering price and what the underwriter pays the issuing company.

2. Other direct expenses: Filing fees, legal fees and taxes.

3. Indirect expenses: Management time spent analyzing the issuance.

4. Abnormal returns: The drop in the current stock price by 1% to 2% in a seasoned new issue of stock.

5. Underpricing: Setting the offering price below the correct value in an initial new issue of stock.

6. Overallotment (Green shoe) option: The underwriter's right to buy additional shares at the offer price to cover overallotments.


 (
What lessons do we learn from studying issue costs?

1. There are substantial financial economies of scale.

2. The cost associated with underpricing can be substantial and can exceed the direct costs.

3. The issue costs are higher for initial offerings than for seasoned ones.

20.6 (
How does a rights offering work?

In a rights offering, each shareholder is issued an option to buy a specified number of shares from the firm at a specified price within a certain time frame.  These rights are often traded on securities exchanges or over the counter.


(
What questions must financial management answer in a rights offerings?

1. What price should existing shareholders pay for a share of new stock?

2. How many rights will be required to purchase one share of stock?

3. What effect will the rights offering have on the price of the existing stock?

(
How is the value of a right determined?



Value of one right



= Rights-on stock price - ex-rights stock price



= (Ex-rights price - Subscription price) / (rights per share)



= (Rights-on price - Subscription price) / (rights per share +1)

· When does a rights offering affect the value of a company’s shares?
A rights offering affects the value of a company’s shares on the day when the shares trade ex rights.

· Does a rights offer cause a share price decrease? How are existing shareholders affected by a rights offer?

The price should drop by the value of the right. Shareholders cannot lose or gain from exercising or selling rights.

20.7 (
What are the different sources of venture-capital financing?

Private partnerships and corporations, large industrial or financial corporation, and wealthy families and individuals.


 (
What are the different stages for companies seeking venture capital financing?

Seed money, start-up, and then first through fourth round financing as the company gets off the ground.


 (
What is the private equity market?

The private equity market involves the issuance of securities to a small number of private investors or certain qualified institutional investors.

CONCEPT QUESTIONS  - CHAPTER 21
21.2 (
Do bearer bonds have any advantage?  Why might Mr. "I Like to Keep My Affairs Private" prefer to hold bearer bonds?



They have the advantage of secrecy.


 (
What advantages and what disadvantages do bondholders derive from provisions of sinking funds?

They provide additional security as an early warning system if sinking fund payments are not made.  But if interest rates are high, the company will buy the bonds from the market, and if rates are low, it will use the lottery, exercising an option that makes sinking fund bonds less attractive to bondholders.


 (
What is a call provision?  What is the difference between the call price and the stated price?

It is an option that allows the company after a certain number of years to repurchase the bonds at the call price.  This option will only be exercised if interest rates drop.  The difference between the call price and the stated price is the call premium.

21.3 (
What are the advantages to a firm of having a call provision?

If interest rates go down and the market bond prices are higher than the call price, the firm can exercise its call option and buy the bonds at less than the market price.


 (
What are the disadvantages to bondholders of having a call provision?

If the firm decides to exercise its option, bondholders will have to sell their bonds to the firm at less than the market price.


(
Why does a Canada plus call effectively make calling debt unattractive?

In the event of a call, the issuing firm must provide a call premium that would compensate investors for the difference in interest between the original bond and the new debt issued to replace it.

21.4 (
List and describe the different bond rating classes.

1. Investment grade |AAA/Aaa to BBB/Baa: extremely strong to adequate capacity to pay interest and principal.

2. Speculative BB/Ba to CC/Ca:  slightly to extremely speculative capacity to pay interest and principle.

3. C:  Debt not currently paying interest

4. D:  Debt in default.


 (
Why don't bond prices change when bond ratings change?

The bond ratings are based on publicly available information and therefore may not provide information that the market did not have before the change.


 (
Are the costs of bond issues related to their ratings?

Investment –grade issues have much lower direct costs than non-investment grade issues.

21.5 (
Why might a zero-coupon bond be attractive to investors?

Zero-coupon bonds offer investors two principal advantages: (1) generally, no danger of a call and (2) a guarantee of a “true” yield, irrespective of what happens to interest rates.

· How might a put feature affect a bond’s coupon? How about a convertibility feature? Why?

A put feature may reduce the level of coupon required because the protection of the floor price increases the expected value of the bond. Similarly, convertibility allows the holder to profit if the issuer’s stock price rises, therefore the required coupon would be less. 

· What is the attraction of a floating-rate?

The coupon payments are adjustable as the market interest rates fluctuate.  

21.6 (
What are the differences between private and public bond issues?

1. Direct private placement of long-term debt does not require SEC registration.

2. Direct placement is more likely to have more restrictive covenants.

3. Distribution costs are lower for private bonds.

4. It is easier to renegotiate a private placement because there are fewer investors.


 (
A private placement is more likely to have restrictive covenants than is a public issue. Why?

It is arranged between a firm and a few financial institutions, such as banks or insurance companies, that are very much interested in avoiding the transfer of wealth from them to stockholders.  It is easier for a few financial institutions to renegotiate restrictive covenants if circumstances change.

21.7 (
What are the features of syndicated bank loans?

A syndicated loan is a loan made by a group of banks. One bank, called the lead bank, negotiates with the borrower and draws up a loan agreement. The lead bank typically retains a share of the loan, and is responsible for collecting interest and principal from the borrower and for dispersing payments to the various participants.

CONCEPT QUESTIONS – CHAPTER 22 

22.1  ( 
What are the differences between an operating lease and a financial lease? 

1. Operating leases have a cancellation option.

2. In an operating lease, the lessor maintains and insures the leased asset. With financial leases the lessee must do both himself.

3. Operating leases are not fully amortized.

· What is a sale and lease-back agreement?
A sale and lease-back occurs when a company sells an asset it owns to another firm and immediately leases it back.

· How does a leveraged lease work?
A leveraged lease is a three-sided arrangement among the lessee, the lessor, and the lenders. The lessee uses the assets and makes periodic lease payments. The lessor purchases the assets, delivers them to the lessee, and collects the lease payment. The lessor puts up no more than 40 to 50 percent of the purchase price. The lenders supply the remainder and receive interest payments from the lessor. 

22.2
(
Define the terms capital lease and operating lease.


Capital leases meet at least one of the following:

1. Transfer of ownership by the end of the lease term.

2. Bargain purchase price option.

3. Lease term at least 75 percent of asset’s economic life.

4. PV (lease payments) at least 90 percent of asset’s fair value.

“Operating lease” is a general term applied to leases which are typically not fully amortized, are maintained by the lessor, and have a cancellation option. 

· How are capital leases reported in a firm’s financial statements?

If the lease is a capital (financial) lease, then the present value of the lease appears as both an asset and a liability on the lessee’s balance sheet.

22.3
(
Why is Canada Revenue Agency concerned about leasing?

Essentially, the CRA requires that a lease be primarily for business purposes and not merely for tax avoidance. In particular, CRA is on the lookout for leases that are really conditional sales agreements in disguise.

· What are some standards CRA uses in evaluating a lease?


The lease will be disallowed if:

1. The lessee automatically acquires title to the property after payment of a specified amount in the form of rentals; or

2. The lessee is required to buy the property from the lessor; or

3. The lessee has the right to acquire the property for less than the fair market value.

22.4
(
What are the cash flow consequences of leasing instead of buying?

1. A cost is the after-tax lease payment.

2. Forgone CCA tax shield.

3. A benefit is the purchase price.

· Explain why the $15,400 in Table 22.3 has a positive sign.

Because we are looking at leasing relative to buying, TransCanada saves $15,400 in year 0.

22.5
(
How should one discount a riskless cash flow?



At the after-tax riskless interest rate.

22.9
(
Summarize the good and bad arguments for leasing.



Good Arguments:

a. Leasing reduces taxes because firms are in different tax bracket.

b. Leasing reduces uncertainty by eliminating the residual value risk.

c. Leasing lowers transactions costs by reducing the changes of ownership of an asset over its useful life.

Bad Arguments:

a. Leasing improves accounting income and the balance sheet if leases are kept off the books.

b. Leasing provides 100% financing, but secured equipment loans require an initial down payment.

c. There are special reasons like government appropriations for acquisitions and circumventing bureaucratic firms.

CONCEPT QUESTIONS  - CHAPTER 23
23.2 (
What is a call option?

A call option is a contract that gives the owner the right to buy an asset at a fixed price within a certain time period.


 (
How is a call option's price related to the underlying stock price at the expiration date?

If the stock is "in the money" (above the striking price), stock price and option price are linearly related.  If it's "out of the money", the call option is worthless.
23.3 (
What is a put option?

A put option is a contract that gives the owner the right to sell an asset at a fixed price within a certain time period.


 (
How is a put option related to the underlying stock price at expiration date?
If the stock is "in the money" (below the striking price), stock price and option price are linearly related.  If it's "out of the money", the put option is worthless.

23.6 (
What is a put-call parity?

The theorem says that because a call's payoff is the same as payoffs from a combination of buying a put, buying the underlying stock and borrowing at the risk-free rate, the call and the combination should be equally priced.

23.7 (
List the factors that determine the value of options?

1. Exercise price

2. Maturity

3. Price of the underlying asset

4. Variability of the underlying asset

5. Interest rate


 (
Why does a stock's variability affect the value of options written on it?

The more variable the stock price, the higher the possibility that the price will go over the exercise price in the case of a call or under the exercise price in the case of a put.  The variability increases the changes of the stocks price extremes.

23.8 (
How does the two-state option model work?

It uses the fact that buying call can be made equivalent to buying the stock and borrowing to determine option value.


 (
What is the formula for the Black-Scholes option-pricing model?



C = S x N(d1) - Ee-rt dN(d2)



Where d1 = [ln(S/E) + (rf + (1/2)(2)t] / ((2t)1/2



d2 = d1  - ((2t)1/2
23.9 (
How can the firm be expressed in terms of call options?

Bondholders own the firm and have written a call to stockholders with an exercise price equal to the promised interest payment.


 (
How can the firm be expressed in terms of put options?

Stockholders own the firm and have purchased a put option from the bondholders with an exercise price equal to the promised interest payment.


 (
How does put-call parity relate these two expressions?

A call option's payoff is the same as the payoff from a combination of buying a put, buying the underlying stock and borrowing at the risk-free rate.  Consequently, puts and calls can always be stated in terms of the other.

· Why are government loan guarantees not free? Why do such guarantees often encourage firms to increase their risk?

A government loan guarantee converts a risky bond into a riskless bond. With option pricing, this obligation has a cost equal to the value of a put. Solvency, because of the government guarantee, is a stronger possibility but never a certainty. Since the put option allows a risky firm to borrow at subsidized rates, it is an asset to the shareholders. The more volatile the firm, the greater the value to the shareholders. 

23.10 (
How can options be used to explain strategies like selecting high-risk projects and milking the firm?

Selecting high-risk projects is explained as follows. Stock is a call option on the firm. A rise in the volatility of the firm due to selecting high-risk projects, increases the value of the call option, i.e., the stock. Milking the firm is explained by thinking in terms of a put option. The put option represents the ability of the shareholders to sell the firm to the bondholders in exchange for the bondholders’ promised payment. The value of the put increases as the value of the firm falls, e.g., when a dividend is paid out in anticipation of financial distress.

23.11 (
How can a contingent value rights plan assist in a merger?



It can be used to accommodate a seller who would otherwise be reluctant.

23.12 (
Why are the hidden options in projects valuable?

Even the best laid plans of men and mice often go astray.  The option to adapt plans to new circumstances is a valuable asset.

CONCEPT QUESTIONS  - CHAPTER 24
24.1 (
Why do companies issue options to executives if they cost the company more than they are worth to the executive? Why not just give cash and split the difference? Wouldn’t that make both the company and executive better off?



One of the purposes to give stock options to executives (instead of cash) is to tie the performance of the firm’s share price with the compensation of the executives. In this way, the executive has an incentive to increase shareholder value, and act in the best interests of the shareholders.

24.2( What are the two options that many businesses have?

             Most businesses have the option to abandon under bad conditions and the option       

             to expand under good conditions.

        ( Why does a strict NPV calculation typically understate the value of a firm or 

             a project?

             Virtually all projects have embedded options, which are ignored in NPV  

             calculations and likely lead to undervaluation. 

CONCEPT QUESTIONS  - CHAPTER 25
25.2 (
What is the key difference between a warrant and a traded call options?

When a warrant is exercised, the number of shares increases.  Also, the warrant is an option sold by the firm.  When an options is exercised, it is the seller of the option that must give up their shares in the company.

 (
Why does dilution occur when warrants are exercised?

Because additional shares of stock are issued and sold to warrant holders at a below market price.


 (
How can the firm hurt warrant holders?

The firm can hurt warrant holders by taking any action that reduces the value of the stock.  A typical example would be the payment of abnormally high dividends.

25.3 (
How can the Black-Scholes model be used to value warrants?



First, calculate the value of an identical call. The warrant price is the call price multiplied by  #/(#  + #w).

25.4 (
What are the conversion ratio, the conversion price, and the conversion premium?

The conversion ratio is the number of shares received for each debenture.  The conversion price is equivalent to the price which the holders of convertible bonds pay for each share of common stock they receive.  The conversion premium is the excess of the conversion price over the common stock price.

25.5 (
What three elements make up the value of a convertible bond.

Convertible bond value = Greater of (straight bond value and conversion value) plus option value.

(
Describe the payoff structure of convertible bonds?

It is the value of the firm if the value of the firm is less than total face value.  It is the face value if the total face value is less that the value of the firm but greater than its conversion value.  It is the conversion value if the value of the firm and the conversion value are greater than total face value.

25.6 (
What is wrong with the simple view that it is cheaper to issue a bond with a warrant or a convertible feature because the required coupon is lower than on straight debt?

In an efficient capital market the difference between the market value of a convertible bond and the value of straight bond is the fair price investors pay for the call option that the convertible or the warrant provides.

 (
What is wrong with the Free Lunch story?

This story compares convertible financing to straight debt when the price falls and to common stock when price rises.

· What is wrong with the “Expensive Lunch” story?

This story compares convertible financing to straight debt when the price rises and to common stock when price falls.

25.7 (
Why do firms issue convertible bonds and bonds with warrants?

1. To match cash flows, that is, they issue securities whose cash flows match those of the firm.

2. To bypass assessing the risk of the company (risk synergy). The risk of company start-ups is hard to evaluate.

3. To reduce agency costs associated with raising money by providing a package that reduces bondholder-stockholder conflicts.

25.8 (
Why will convertible bonds not be voluntarily converted to stock before expiration?

Because the holder of the convertible has the option to wait and perhaps do better than what is implied by current stock prices.

· When should firms force conversion of convertibles? Why?

Theoretically conversion should be forced as soon as the conversion value reaches the call price because other conversion policies will reduce shareholder value. If conversion is forced when conversion values are above the call price, bondholders will be allowed to exchange less valuable bonds for more valuable common stock. In the opposite situation, shareholders are giving bondholders the excess value.

CONCEPT QUESTIONS – CHAPTER 26
26.1
(
What is a forward contract?



An agreement to trade at a set price in the future.

· Give examples of forward contracts in your life.

A forward contract is formed when you contract an artisan to construct a banjo and agree to pay him $1,200 on delivery.

26.2
(
What is a futures contract?



Futures contracts are like forward contracts except that:

1. They are traded on organized exchanges.

2. They let the seller choose when to make delivery on any day during the delivery month.

3. They are marked to market daily.

· How is a futures contract related to a forward contract?

In both contracts, it is the obligation of both the buyer and seller to settle the contract at the future date.

· Why do exchanges require futures contracts to be marked to the market?

Because there is no accumulation of loss, the mark to the market convention reduces the risk of default.

26.3
(
Define short and long hedges.

A short futures hedge involves selling a futures contract. A long futures hedge involves buying a futures contract.

· Under what circumstances is each of the two hedges used?

Short hedges are used when you will be making delivery at a future date and wish to minimize the risk of a drop in price. Long hedges are used when you must purchase at a future date and wish to minimize the risk of a rise in price.

26.4
(
How are forward contracts on bonds priced?


The same as any other cash flow stream – as the sum of discounted cash flows:





P FORW.CONT= (1 + r1)[(t=1 (It/(1+rt)t + PAR/(1 + rT)T]

· What are the differences between forward contracts on bonds and futures contracts on bonds?


Futures contracts on bonds have the following characteristics:

1. They are traded on organized exchanges.

2. The seller can make delivery on any day during the month.

3. They are marked to market daily.

· Give examples of hedging with futures contracts on bonds.

Your partnership has just leased commercial space in a downtown hotel to a department store chain. The lessee has agreed to pay $1 million per year for 8 years. You can hedge the risk of a rise in inflation (and hence a fall in the value of the lease contract) over this period by forming a short hedge in the T-bond futures market.

26.5
(
What is duration?


The weighted average maturity of a cash flow stream in present value terms.

· How is the concept of duration used to reduce interest rate risk?

By matching the duration of financial assets and liabilities, a change in interest rates has the same impact on the value of the assets and liabilities.

26.6
(
Show that a currency swap is equivalent to a series of forward contracts.

Assume the swap is for five year at a fixed term of 100 million € for $50 million each year. This is equivalent to a series of forward contracts. In year one, for example, it is equivalent to a one-year forward contract of 100 million € at 2 € /$.

CONCEPT QUESTIONS – CHAPTER 27

27.2
(
What is the difference between net working capital and cash?
Net working capital includes not only cash, but also other current assets minus current liabilities.

· Will net working capital always increase when cash increases?

No. There are transactions such as collection of accounts receivable that increase cash but leave net working capital unchanged. Any transaction that will increase cash but produce a corresponding decrease in another current asset account or an increase in a current liability will have the same effect.

· List the potential uses of cash.

1. Acquisition of capital

2. Acquisition of marketable securities

3. Acquisition of working capital

4. Payment of dividends

5. Retirement of debt

6. Payment for labor, management and services rendered

· List the potential sources of cash.

1. Sale of services or merchandise

2. Collection of accounts receivable

3. Issuance of debt or stock

4. Sale of marketable securities

5. Sale of fixed assets

6. Short-term bank loans

7. Increased accrued expenses, wages, or taxes.

27.3( What does it mean to say that a firm has an inventory-turnover ratio of 4?
 It means that on average the inventory is kept on hand for (365 days per year/4 

 times per year) = 91.25 days.

      (Describe operating cycle and cash cycle. What are the differences between 

 them?

 The operating cycle is the period of time from the acquisition of raw material     

 until the collection of cash from sales. It includes conversion of raw materials  

 into finished goods, inventories, sales and collection of accounts receivable. The 

 cash cycle is the period of time from the cash payment for raw materials to the   

 collection of cash. The difference between the two is the accounts payable stage,   

 the time between the acquisition of raw materials and the cash payment for 

 them.

27.4( What keeps the real world from being an ideal one where net working capital

           could always be zero?

           A long-term rise in sales level will result in a permanent investment in current 

           assets. In addition, any day-to-day and month-to-month fluctuation in the level   

           of sales will produce a nonzero NWC.

       ( What considerations determine the optimal compromise between flexible 

           and restrictive net-working-capital policies? 

1. Cash reserves: How much cash does management want?

 2.    Matching of asset and liability maturity (maturity hedging)

 3.    Term structure: The difference between short-term and long-term interest 

        rates

27.5 ( How would you conduct a sensitivity analysis for Fun Toys’ net cash balance?
By determining the net cash balance under different scenario assumptions – changing factors that will affects net cash balance and figuring out the result.

· What could you learn from such an analysis?

It will give you an idea of what the range of net cash balances will be under the different scenarios and how sensitive the net cash balance is to each of the factors that affect it.

27.6 (
What are the two basic forms of short-term financing?



Unsecured bank borrowing and secured bank borrowing.

· Describe two types of secured loans.
1. Accounts receivable financing. In this type of borrowing, accounts receivable  

                  are either assigned or factored. In the latter case receivables are actually sold  

                  at a discount.



2.   Trust receipt. This is one of the three types of inventory loans in which the 

           borrower holds the inventory in “trust” for the lender.

CONCEPT QUESTIONS – CHAPTER 28

28.1 (
What is the transactions motive, and how does it lead firms to hold cash?

It is the necessity to hold cash for disbursements to pay wages, trade debts, taxes and dividends. A firm that does not have cash for these transactions will not be able to meet its obligations. Because cash inflows and outflows are seldom synchronized, firms need cash balances to serve as a buffer.

· What is the cost to firms of holding excess cash?

The cost of holding cash is the interest income that the firm could have received from investing in Treasury bills and other marketable securities.

28.2 (
What is a target cash balance?
It is a firm’s desired level of cash holdings to satisfy the transactions and compensating balance needs.

· What are the strengths and weaknesses of the Baumol model and the Miller- 

     Orr model?

The Baumol model is a very simple and straightforward model with sensible conclusions, but it assumes a constant disbursement rate, lack of cash receipts during the projected period, and makes no allowance for “safety stock.” It also assumes discrete, certain cash flows. The Miller-Orr model improves the understanding of the problem by determining the relationships among the different variables, but it neglects other factors that affect the target cash balance.

28.3 (
Describe collection and disbursement float.

Collection float is the time that elapses from the moment the customer mails the payment until cash is received. Disbursement float is the time that elapses from the moment a company mails a check and the time cash is withdrawn from the company’s bank account.

· What are lockboxes? Concentration banks? Zero-balance accounts?

Lockboxes are postal boxes strategically located in such a way that the mailing time from customers to the box is minimized. The firm’s bank has direct access to the boxes, and thus in-house handling is eliminated and collection float is reduced. Concentration banks are regional banks in which the company has accounts and to which it sends excess cash at the end of the day. In this fashion cheques obtained from nearby customers can be collected daily. Zero-balance accounts are used to avoid carrying extra balances in each disbursement account. Funds transferred in just cover cheques presented that day.

· How do computer and communications technologies aid in cash management


by large corporations?

New technologies focus on reducing float virtually to zero by replacing cheques with electronic funds transfer. Examples used in Canada include pre-authorized payments, point-of-sales transfers and electronic trade payables.


The bank where the firm has its accounts. 

28.4 (
Why do firms find themselves with idle cash?

To finance seasonal or cyclical activities (transactions motive), to finance planned expenditures (investment motive), and to provide for unanticipated contingencies (precautionary motive). 

· What are some types of money market securities?

1.
Treasury bills and notes


2.
Federal agency securities


3.
Municipal securities


4.
Commercial paper


5.
Certificates of deposit


6.
Repurchase agreements


7.
Eurodollar certificates of deposit


8.
Bankers’ acceptances

CONCEPT QUESTIONS - CHAPTER 29

29.1 (
What considerations enter into the determination of the terms of sale?

1. Probability of non-payment

2. Size of the account

3. Perishability of goods

4. Industry standards and competition

5. Standard speed of collection

6. Price of the goods

· Explain the design of common credit instruments.
The most common credit instrument is the invoice, which is sent with the shipment of goods and which the customer signs as evidence that the goods have been received. Promissory notes may be required for large orders where the firm anticipates collection problems. A commercial draft is written by the selling firm specifying the amount and date of payment. The draft is sent to the customer’s bank with the shipping invoices, where it is signed by the customer, before the invoices are turned over.

A banker’s acceptance is a written agreement by the bank to pay for the goods and collect the money from the customer.

A conditional sales contract is an arrangement where the firm retains legal ownership until the customer has completed payment. 

29.2 (
List the factors that influence the decision to grant credit.

1. The delayed revenues from granting credit

2. The immediate cost of granting credit

3. The probability of non-payment

4. The appropriate required rate of return for delayed cash flows.

29.3  (
What are the advantages of credit insurance?
The advantages of credit insurance is that it gives exporters support to provide services to overseas customers who they might otherwise have been reluctant to sell to.  In addition, the exporter will find obtaining bank financing is easier.
29.4  (
What is credit analysis?

It is the process of trying to determine the probability that a customer will default.  It involves:

a. gathering relevant information, and

b. determining creditworthiness


  (
What are the five Cs of credit?



Character, capacity, capital, collateral, conditions.

· What are credit scoring models and how are they used?

Credit scoring models are elaborate statistical methods of calculating a numerical rating for a customer based on information collected and then granting or  refusing credit based on the result. Computerized scoring models employ a statistical technique called multiple discriminant analysis (MDA).

29.5 (
What tools can a manager use to analyze a collection policy?



Average collection period, the aging schedule, and the payments pattern.

29.6 (
What services do factors provide?

The factor checks the credit of new customers, authorizes credit, handles collection and bookkeeping. In addition factoring provides insurance against bad debts.

CONCEPT QUESTIONS - CHAPTER 30

30.1 (
What is a merger?  How does a merger differ from other forms of acquisition?

A merger is the absorption of one firm by another, where the acquiring firm retains its identity and the acquired firm ceases to exist.  It differs from other forms of acquisition in that no new firm is created, and there is no need of buying the individual assets of the acquired firm or its stock.


 (
What is a takeover?

It is the transference of control of a firm from one group of shareholders to another by means of a majority vote of the board of directors.

30.2 (
What factors influence the choice between a taxable and a tax-free acquisition?



There are two factors to consider when comparing a tax-free acquisition and a taxable acquisition:



The capital gains effect, and the write-up effect.

· What is the write-up effect in a taxable acquisition?
In a taxable acquisition, the assets of the selling firm are revalued or “written up” from their historical book value to their estimated current market value.

30.3 (
What is the role of goodwill in purchase accounting for mergers. 


Goodwill is the excess of the purchase price over the sum of all the identifiable assets and liabilities and identifiable intangible assets.
30.5 (
What are sources of possible synergy in acquisitions?

1. Revenue enhancement: marketing gains, strategic benefits, and market power.

2. Cost reduction: economies of scale, economies of vertical integration, complementary resources, and elimination of inefficient management.

3. Lower taxes: uses of tax losses use of unused debt capacity, use of surplus funds, and ability to write up the value of depreciable assets.

4. Lower cost of capital: cost of issuing securities is subject to economies of scale.

30.7 (
How is the distribution of merger gains complicated if one of the firms has debt outstanding?



There exists a coinsurance effect which reduces bankruptcy risk after the merger, makes bondholders gain, and the shareholders lose.

30.8 (
Why can a merger create the appearance of earnings growth?

If a high price-earnings ratio company acquires a low price-earnings company, the market might assume that the price-earnings ratio does not change.

· Why is diversification generally a poor motive for a merger?

Shareholders can diversify more easily than corporations by simply purchasing common stock in different corporations.

30.9 (
In an efficient market with no tax effects, should an acquiring firm use cash or stock?

It would not matter because the NPV of the acquisition will be zero, and so the acquired firm's shareholders obtain nothing but the value of the stock.  If they use cash, the value of the acquired firm's stockholders is the same as the value of the original firm.

30.9 (
What can a firm do to make a takeover less likely?

1. If an individual or group owns 51 percent of company stock, called a control block, hostile takeovers are virtually impossible.

2. It can change the corporate charter by requiring a higher percentage of share approval for a merger or staggering the election of board members.

3. It can engage in standstill agreements (greenmail).

4. It can make an exclusionary self-tender

5. It can provide golden parachutes to top executives

6. It can sell major assets, i.e., the "crown jewels".

7. It can use "poison pills".

8. It can go-private, with the purchase of publicly owned stock by a private group, often existing management.

9. It can seek a white knight.

30.10 (
What does the evidence say about the benefits of mergers and acquisitions?

It says that they usually benefit the shareholders of the acquired firm but do not significantly affect the shareholders of the acquiring firm.  In terms of the new entity, a monopoly power can be created.

CONCEPT QUESTIONS  - CHAPTER 31

31.1
(
Describe financial distress?

It is a situation where operating cash flows at a firm are not sufficient to satisfy current obligations and the firm is forced to take corrective action.


(
What are stock based insolvency and flow based insolvency?

Stock based insolvency occurs when a firm has negative net worth.  Flow based insolvency occurs when a firm has a short fall in cash flow.

31.2
(
Why doesn't financial distress always cause firms to die?



Financial restructuring may make a firm worth more "alive than dead".


(
What is a benefit of financial distress?



It can serve as an early warning system or "wake up call.

31.3
(
What is bankruptcy?

Bankruptcy is a legal proceeding for liquidating or reorganizing a business.


(
What is the difference between liquidation and reorganization?

Liquidation occurs when the assets of a firm are sold and, after payment of the bankruptcy administration costs, the proceeds are distributed among the creditors.  Reorganization is the restructuring of the firm with some provision for repayment of creditors.


(
What is the Companies’ Creditors Arrangement Act?

The CCAA is federal legislation allowing for the reorganization and continuation of insolvent businesses.

31.4
(
What are two ways a firm can restructure its finances?

Private workouts and formal bankruptcy.


(
Why do firms use formal bankruptcy?

Equity holdouts

Private workouts may be more expensive because of complex capital structure or conflicts of interest.


   (
What is a prepackaged bankruptcy?

A situation where the firm and most of all creditors agree to a private reorganization before bankruptcy takes place.  After the private agreement, the firm files for formal bankruptcy.


(
What is the main benefit of prepackaged bankruptcy?



It forces holdouts to accept in bankruptcy reorganization.

31.5
(
Was O&Y’s insolvency stock-based or flow-based?



Flow-based: O&Y could not service its debt because of a lack of cash flow.


(
What are some of the costs of the O&Y bankruptcy?

1. Direct costs of restructuring - legal fees.

2. Indirect costs of restructuring - loss of key employee and good name.

3. Costs of complicated financial structure.

CONCEPT QUESTIONS - CHAPTER 32

32.2
(
What are the three kinds of foreign exchange transactions?



Spot, forward, and swap


32.3
(
 What is the law of one price?  What is purchasing-power parity?

The law of one price is the simplest version of PPP.   It states that a commodity will cost the same regardless of what currency is used to purchase it.  PPP says that different currencies represent different purchasing powers, and the exchange rate adjusts to keep the purchasing power constant.


(
What is the relationship between inflation and exchange-rate movements?

This relationship is called "relative purchasing power parity" and states that the rate of inflation in one country relative to the inflation rate in another country determines the rate of change of the exchange rate of the currencies of the two countries.

32.4
(
What is the interest-rate-parity theorem?

It is a theorem that implies that if interest rates are higher in one country than another, the latter country's currency will sell at a premium in the forward market.  In this way money earns the same regardless of what currency it is invested in.


(
Why is the forward rate related to the expected future spot rate?

The trading in forward rates is based on what traders expect the spot rate to be in the future.  If the expectation for the spot rate is $X/DM in three months, disregarding risk aversion, the three month forward rate should also be $X/DM.


(
How can one offset foreign exchange risk through a transaction in the forward markets?

Through the purchase or sale of a forward contract in a position offsetting that of the firm's liability or promised payment.


(
How can firms hedge using currency swaps or currency options?

In a currency swap, where each borrower raises funds in different currencies and then swap liabilities, the funds in the desired currency are obtained at a lower rate than for direct borrowing. The basic idea behind hedging with options is to take an options position opposite to the cash position.

32.5
(
What problems do international projects pose for the use of net present value

 

techniques?

1. Foreign exchange conversion.  What exchange rate should one use, the company's projection or the market's.

2. Repatriation of funds.  Some countries place restrictions on remittance of funds to the investing country.

3. The appropriate discount rate may be lower than the domestic rate if the firm can diversify in ways that its shareholders cannot.  Foreign political risk may raise the required return in some cases.


(
How is international capital budgeting affected by growing investor interest in international diversification?



Firms can benefit from a lower cost of capital for international projects which provide diversification services for the firms’ shareholders. However, as investors diversify globally, the cost of capital advantage to firms will likely decline. In addition, the increased political risks may offset the gains from international diversification.

32.6
(
What are the three ways firms can finance foreign projects?

1. Raise cash in the home county and export it to finance the foreign project.

2. Raise cash by borrowing in the foreign country where the project is located.

3. Borrow in a third country where the cost of debt is lowest.


(
What sources of financing are available?



Canadian banks, Eurobanks, and international bond Markets.

32.7
(
What issues arise when reporting foreign operations?

1. What exchange rate should you use if the exchange rate has changed during the period?

2. How do you handle unrealized accounting gains or losses from foreign currency?
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